https7 /defpsc.com

cobe: XOI
UYRTeRT AT
BOOKLET NO.
TEHIT 999 : 100
q@ ;2 (8 ) A TR . 1 T T 5 200

(1)

(2)

3)
(4)

)

-

Et.l I.I . .
T TEYfETd 100 far v siRa. S¥eanidl weidl = fofrvamm geam soargEl 1 vegfass we

BT R AT - FiF
T T 8T shHTH BN & I A mag;E Bica
7 forera wiwRY foermn, SEARIRRRIL

L BT WIAYSRIR i HeA1 STATTRaR (¥ S Ia Fohads HTIo] 7 fomar g .

() T IFYREhdTe TS Tl 4 Wi SO gafae A M 1, 2, 3 U 4 o wAiE fGoo AR, o
R, FAUYeR! FEld A SO HAE SO AR AT T IAAeheE TS e, ST U
T THhRaT STFHIF T FA a1 Gailug TehIisHHR SRk he Tfae 5o are HIes =,
TR [T el Sheedl YITES! SToAeT anawa, IFoe a1 virder 9 anss =3,

(F) T A fauard! TarEt saT gust Aread fatga o en. T faugman e vy vt i
o o fewt Frafor grearel vier sneuw, SHganm watid weT Tatt wreete vy
AT wgar.

el T BEE 0 SARd. Arad W9 T SO AN, AR gl 0K AR Are g9l U v faaen

S 9T WIEHAG, A U WIS STEnt 3T O UTET U9 He vt Areeard @eR 4% 1 aroiaar (@ie

TR TSR SEUiAaRT™ Youieh ™ h{aTT SHEATUAT STUlHH d1o 9 STamd o7 o st .

THY ' AT TS SEuETal WRUT Yyt 3@ IO " Suiuiaehd AHg HUdd. A=

AT R eAT SAUATST Ueh qraneT T[0T i HIvand A

TR -

T A aTst s fafew e d@ wiwea & wvafaent smEnTER wrew 3R T
TR AT SHRANON THSETel QravuaTd JUAE A4 3. & 9% Wuddd 9l gy ik ot
ga,/ydl, TR et gy Tiadh oie HTE T HIUTETEl ERUrd YrIsl a1 U argol
FIUTAT eI [, THS Yiag w0 R I ST g o seRitay yee
TR haedr ¢ yitenmed gromaT Ry wiaad sivgrarsasn fufag-82 ' ardte
TAEITAR 999 Yoo el g aR eRaE Siva 956 o gt saad! wHre 05F
AT ERTETETeAT ANt/ faan Fudl ue g TeRdre Egre frdm W 2.

T wyrutrdane! fafed il 9 wuuananedt @ weqieeT smfugauul ST o qaT
TR 3T A I Sa ATHHTAT HHSIgerihl, THa T vdderhiageia! o

Eﬁrmmﬁmwsﬁmmﬁmmaaﬁmﬁ@ﬁm@

~ )

| " P AR e e e e

HEATEAT ® Hio sag 99

o=a




https://dompsc.com

XOI

FTAT HIEMEE A0 /SPACE FOR ROUGH WORK




https://dompsc.com

X0l
1. Wdlets wh o Yar i gue geer @isns 9, 1857 =1 38 A ! fade = ‘Ui
35’ B
(1) =i soml 2y @IS ST
(3) fomm Fewm (4) A fegrmEe

The following leading British Parliamentarian and Politician admitted that the Revolt of
1857 was a National Revolt and not a Military Mutiny :

(1) Lord Dalhousie (2) Lord Canning
(3) William Gladstone {4) Benjamin Disraeli

2, 'S g WA 91 Suel MR A, FITRES S FTerd WaE 'R e, ®l
G HIAH AgwHT 8% 7877 - 81 30 1940 WS FIoft @1 ?

(1) W e S

(2) Tieew &m
() e ¥ea ¢ A ST (n9es)
(4) TEgwE@m

Which organization passed the following resolution in 1940 ? “India should not take part

in a war which will neither bring freedom or democracy, nor wilt the workers benefit in
any way from it.”

(1) Indian National Congress

(2) Muslim League

(3) All India Trade Union Congress (AITUC)
(4) Hindu Mahasabha

3. TINR Fonet FORIGH TR S e,
(1) dtw = e (2) I A
() it = @ <
Gandhar art was influenced by art.
(1) Greek and Chinese (2) Unani and Romaﬁ
(3) Persian and Greek (4) Chinese and Persian
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4. AT STARIEIST 39ATH GRS AE]

(a) T Fvesht (b) g%

(c) = T (d) TR (SFfTEiFET Hwa)

(e) WEF (T ZEFHR)
F{Beh! iU/ T TN FeRATaL STHEE! AMeE Ao EaTar’ § TUEA w@dE!
ANRS ST/ AT ST ?

1 (@) (2) (b} (3) (<) M (e) (4) (d)

List of the species useful for the treatment of diseases :

© {a) Willow plant (b) Yew tree
(¢} Dog fish (d) Wine (Ancistrocladus korupenis)
(€) Frog (Epidobates tricolor)

Which species is/are used for the isclation of ‘taxol’ which is used for the treatinent of
cancer 7

L @ 2 (®) (3) () and (e) (1) (d)

5. T AT el WA 3ferd (i 2 afireayel e fega a9,
(a) 3154, AQIT WM TEFEIN TR
(b) ST TEFEIIER ReTwSE W
() Todany, o s SRxsd T fawm
(d) T TEEIEET YR
1) ©, ) 2y (k) () (3) (), 4 (@) ()
We find the following two specific trends at the beginning of the middle age in Indian
History.
(a) Rise of philosophies like Advaita, Vedanta.
(b) Progress in sculpture as per Buddhism

(c) Development of temple towns like Chidambaram, Madurai

(d) Trade with Roman empire

(1 (e (d) 2 ) © 3 @ (© 4) @) )
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6. T FERYTSN TeawY 3R Hvk 2
FTE TG TG S ST,

TEHREHST 3w AW O &7 B,
TR I wIyEaE! T Heaeal,

1)
)
3
(4)

1)
(2)
(3)
4

afn g SFig S,

What was the aim of the Civil Disobedience Movement ?
Paralysing the administration by taking law into the hands.

Make the government concede more demands.

Secure a place for the Congress in the Round Table Conference.

To popularise individual Satyagraha.

XOI

7. WOGId! RVl STHGHER doodee= WM Fogdr /

@)
3

Which of the following was not a part of the Non-cooperation Movement ?
{2) Boycott of the courts
{4) Non-payment of Tax

Welaie

TSP

TRI FISEHS SeER

2) AT AR
(4) FA W

(1) Boycott of schools
{3) Boycott of the foreign cloth
8. 7§ wie S AR S T
(a) WAl @ fom=
(b) wE @) Fom
(c) SAraHT (iif) S
(d) fomem - (iv) TR
@ ® @@ @
(1) @ @@ @) @)
@) G @ (Gv) )
@ () () @ @)
@ (v) @ @) @)
Match the rivers with their vedic names.
(a) Sarsuti (i) Chenab
{(b) Parushni @i} Jhelam
(¢) Asikni (i) Saraswati
(d) Vitasta {iv) Ravi
@ M (o (@
(1) @ @ @) Q)
(2) (g @ () @)
B) @) v ® ()
4y (v} @ @D @)
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9. T HNERT AT ARHIYS I WA TSHTT T o9 TR ¢

(2)
(b)
(c)
(d)
(1}

i T & fevard e et

Afasier e WA A T el

ey e = yreEret i e .

TSR A= A O B Hid o

(@), (b) @ (b}, (d) () (o) (D) 4 (@) ()

North Indian powers were defeated at the hands of invaders from Central Asia because :

()
(b)
()
(d)
1

Indian soldiers could not hope to get plunder.
There was no unity among Indian soldiers due to casteism.
Central Asian soldiers had more modern weapons.

The invading army was led by slaves.

(@), (b) (2 (b)) (3) (o) (d) 4) (@) (0

10. W%@mgﬁaﬁﬁmﬁaﬁaﬁma@a?

(a)
(b)
(©)
(d)

)
(3)

T TaTasETYEl 9 ARG (e AET T B

AT aTRal MR faam aives Hersus qEae.

ST WA ST ST Fed, TU1 FIaRnaEl e R e Fe’ o™
Hd gl

(@), (b}, (d) 2) (@) (), ©

(@), {c}, (d) 4)  (b) (0 ()

Which of the following statements about Jawaharlal Nehru are true ?

(2)
(b)
(c)
(d)

—

)
(3)

He chaired the Planning Commission before and after independence.
He presided over many sessions of Indian Science Congress.
Authoring the Nehru report, he drew an ideal outline for Indian government.

“1 feel like an exile in the West, but sometimes I feel I arn an outsider even in my own
country.” Ie felt.

(@), (b), (d) (2} (@) O} ©
(a). (c), () 4 (b). (), (d)
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11, Tis-snaft SUUE w1 G A ?

(1) U WA 7RIS AR (Ao,

) feEie =T F@.

(3) TS S W TS S,

(4) SIOHR! FEE! TR

What was the outcome of the Gandhi - Irwin Pact ?

1)
2
(3
(4)

The demand for Purna Swaraj was accepted.
Salt tax was abolished.
Gandhiji resigned from Congress membership.

None of the above.

12, HFTHA T HA

(2)
(b)
()
(d)
(L)

ieew ST Aew fdeven ferie e wod! srwmae g5d 5o,

FRIT TRNST Tl guid Tew e wfienvart 15a et

MR e v=mE g% ool

(@), (), (d). (b) (2) (d), (b).{a) () () (b)(a) (o)(d) 4 (a) (b)(c) (d)

Arrange in chronological order.

(a}

(b)
(c)
(d)
1)

Muslim League gave preference to the Fourteen Points of Jinnah rather than the
Nehru Report.

Congress asked the government to accept the Nehru Report within one year.
Congress demanded ‘Purna Swaraj’ {Complete Independence) in the Lahore session.

Gandhiji started Salt Satyagraha.
@, (€ @ b @ @ o6 @ ®e A @ (@ b) 0@
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13. 9. 1927 Ul WA HUTA WU S BRI
(1) 1919 G BiE7g YOwRE FEe sy St g
(2) VR UEIHS HUIGE W 9T A YRA SR YT SEvATE! Ut g,
(3) TN U= B ST el 9Tl TS B,
(4) o mE

Simon Commission was appointed in 1927 because :

(1) 1919 Montegue-Chelmsford act could not achieve much.

{2) If the labour party was to come to power, they would bring pro-India policies.
(3) It was necessary to thwart the increasing prominence of Swaraj Party.

(4)  All the above

14, GO faameas s sea,
(a) W =TS qasa Revsr (anfang) w=omm.
(b) == = g @A fadE 7 geaeet Hast Tue (Uncrowned Emperor of Mumbai)

Tl
(c) @R, SUSH o Hegd WA TF B,
(d) Y THHA oS J T ITHE/ B SR,
(1)  TRTHTS A (2) . et
(3) TN WA U3 (4) TR I

Name the person described below :

(a) He is called the architect of Mumbai.

(b} Acharya Atre called him “Uncrowned Emperor of Mumbai”.
(c) He was excellent in Marathi, English and Sanskrit.

(d) Elphinstone college owes a lot to him

(1} Dadabhai Naoroji (2) D.P. Tarkhadkar

(3) TJagannath Shankar Sheth (4) Balasaheb Thakre

15. ‘@il 95d w13 gl 7
(1) HUSERE (2) @HRw (3) fagd {4) HHU

Where was ‘Khoti System” being implemented ?
(1) Marathwada (2) Khandesh (3)  Vidarbha (4} Konkan
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16, T TGS § TH a1 o S Yefoeue weRi wiEa €5 whe gL @ frgond @i ST

SHEA

() wfmam Tade (b) B AR

(c) HTH (d) wifeaw weiae

(e) Hiceam wethe

1) (@, 0@ 2) (®) ) (D 3 @ ®), () @ @ @ (@

Gun powder is a mixture which when ignited a number of chemical reactions take place

producing explosion. It consists of :

(a) Potassium nitrate (k) Powdered charceal

(c) Sulphur (d) Sodium Carbonate

() Calcium Sulphate

(1} @ ) () (2} (0) {c) (d) 3 @ b)) 4)  (a) () (d)
17. @S 9 faur awee

(a) RGO Yot HIVRT FE S STDSIAr 99 1951 AT .48 BT I 1991 W4 0.16 B
TR T S F #2035 T 0.08 TR 7T WIS 0 TRl I

(b) T S STESA FH A TG FRO qed] SRES I FA G FAFE AAHRS

" Hoodiehivl SR,

TOUHT BT [HHM ST 374 ?

(1) (o) T A (a) TR

2) (a) fqum dma (b) T

(3) 8 fauR SRR T (b), (a) I HROMEHGT .

(4) <FR fAUR ST TG (b), (a) = FROF{AHEAT &7 R

Consider the following two statermnents :

(2) In India per capita availability of agricultural land has declined from (.48 hectare in
1951 to 0.16 hectare in 1991 and is projected to slide down to 0.08 hectare in 2035

(b) The decline in the extent of agricultural land is mainly due to increase in population
and diversion of agricultural land for non-agricultural purposes.

Now state whether :

(1) (b} is a correct (a) is not
(2) {(a) is a correct (b) is not ‘
(3) Both are correct and (b) is a correct reasoning of (a}
(4) Both are correct but (b) is not the reasoning for (a)

{
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18.  Hag 3 WY HRGToA TR SETEATE 63% @iTs 0 7 80% FHiiE I ST 2. Sl A S,
2 A TAYYH 1974 U IS SIS, € WS d0 FIUET Fl@EHts 318 ?

(1) ssiE (2) THEEE (3) RN (4) SiEEE

Mumbai High accounts for 63% of petroleum production in India and produces about

80% of India’s natural gas. The ONGC struck oil here in 1974. To which period does this
oil belong :

(1) Eocene (2} Miocene (3) Pliocene (4) DPleistocene

19. TEIo &= e 9ar %1

(a) oifest veld (o) s

) TwEStaE (d) M

F{SUET HIvET ' AR HITET W TS 7

(1) ™ (a) (2)  (=a) oo ()

(3) (b, (¢ 37T (d) @ (a), (b), (o) *nftr ()

Consider the following areas :

{a) Andese Mountain (b} New Zealand

{c) Philippines (d) Taiwan

Which of the above form a part of ‘Ring of Fire’ ?

(1) only (a) (2) (a) and ()

@ ®) (© and @ @ (@) O), (© and (d)

20, S MU TYU YAREM HETS -ARR T HW AL, WOBUH RIVE Y-IER Tl
T TLH] 20ATg FTHIOT Sl +ATeN 2

(1) ==% (2) WA (Rapids) (3) HaHEl (4) EmWaR

A river produces various landforms during its entire course. Which of the following
landforms is not produced by a river in its upper course ?

(1) Gorge (2) Rapids (3) Water fall {(4) Spur

HoAT HHHEI JRT /SPACE FOR ROUGH WORK
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21. WS Tee @ie Qi GoRe{HR Jadl %H @l

(a) ST (o) FwW (c) (@) wEd
1 (), @ () (© (2} (b} (d) (0 (a)
3) (@) ®) () © (4)  (a) () (b), {d)
Arrange the following rivers in descending order of their basin area :
{a) Brahmputra (b} Krishna (c) Tapi (d) Kaveri
1 ®) @, @), () (2) (b)) (0 (@)
@) (a) (b)), ) 4 @ @ ®)
22, I TRV TR faatm R wmeigr v g ?
(1) = fe wem (2) Ulseds
(3) T (4) THATE

In which areas settlement distribution will be decided by flood water level ?
{1) Narmada delta (2) Rohilkhand
{3) Malwa (4) Ramnad

23, T WOTMAE a0 2° §, @9 T Yot Eelede! v IR gvars s AT 7
(a) =R
(b) HIHIHS BN TSR SH TS
() il fasmg age
(dy woft anfr gegdi=n T Yol TR e
(1) @, (k) @ F () (2} {a), (b) F (o)
3} (b), ©3F () (4) B (d)

If global temperature rises by 2°C, which of the following effects can be seen on the
earth ?

(a) Annual flooding

(b) Insect born diseases like Malaria

(c)  Shift of agricultural regions

(d) Several species of plants and animals will become extinct
(1) (a), (b}, (¢) and (d) (2)  (a) (b) and (c)
3) () (o) and (d) (4) only (d)

HEAT HIATART 9N /SPACE FOR ROUGH WORK
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24, WS TRETG 4 feAed YS¥EE 91 UEd U 1, 2, 3, 4 SidFT SrEfacedl $Re.
q Toi A TTHAFET YHHE FHITET HH T ST ?

(1) =, S, e, 1 (2) TR, @i, S, Tt
(3)  TEdrE, @Rl TN, et (4) @i, TR, G, SEar
The following map of Eastern Himalayan region shows four mountain ranges which are

numbered as 1, 2, 3, 4. Which of the following sequences of these mountain ranges from
Woest to East is correct ?

/\’,\_

(1) Barali, jayantia, Khasi, Garo (2} Garo, Khasi, Javantia, Barali

(3) Jayvantia, Khasi, Garo, Barali (4) Khasi, Garo, Barali, Jayantia

ST SIAMETS! 9T /SPACE FOR ROUGH WORK
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25. WEreTH! SivmE fau o swr 9 gHe fOyeeig e Seed ARl 2

(1) A9 feare 7537

(2) SR WE YT

(3) IYR HEET (Uniform) 9T T8

(4) wlaty o=

Which of the following characteristics does not belong to the hot and wet equatorial type
of climate ?

(1)  There is no winter

(2) Afternoon Rains

(3) Uniform temperature throughout the year

(4) Orographic rain

26. NRAT HHAMN FAeY FHVE FO AR B
(a) VIS TR SFAHRIER dAaST 7oL,
(b) TH WEawE= w9,
(c) TER THYRE YIeaTeT <d e,
(d) ST TS SRS AT,

FUGYH] IV fTEH T TR ?
1) {a), (c) AT () (2} {b), (c) O (d)
(3)  (a), (b) =00 (d) (4) e ()

Fishing in India is poorly developed because :

(a) Dependence on food crops

{b)  Facilities for preservation of fish are limited

(c) Government is not giving encouragement to develop fishing
(d) Market is not much favourable

Which of the above staternents are correct ?

(1) (a) (c) and (d) (2)  (b) {c) and (d)
3) (@) (b) and (d) (4} Only (c)
27. ST U wE 43 Rl e yaifad o, TR yirere: waitad 89 JE00 T R0 ?
(1) T (2) AEE ¥EW
(3) TENTE (4) T AT

Soil'erosion has affected large tracts of our country. Which is a state with the largest area
under soil erosion ?

(1} Rajasthan (2) Madhya Pradesh

(3) Maharashtra {4) Uttar Pradesh

Tl SRS /SPACE FOR ROUGH WORK
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28, HHURT YRE FHIAH U= TR asH1=A1 il 29 ST €9 v ?
(1) 40% (2) 30 % 3) 20% 4y 10 %
How much percent weight of sugarcane can be converted into sugar ?
(1) 40 % {2) 30 % (3) 20 % 4y 10 %

29, W EFE YAt AHTN FEIG < (thick) I - <r@fad

"—?"T) INDIA T

D

(1) diga 9 TTg SHEA HLOTA U TqUET FI0m W
(2) W& fads

(3) TWYEFT AT < W

(4) =l T THE T

The thick line drawn in the following map of India shows :

f‘”{) INDIA
;

{1) A line separating rice and wheat producing regions
(2) Water divide

(3) Isoseismal line

(4) None of the above

ool T/IATHIS SO /SPACE FOR ROUGH WORK
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30. WoE faun TREh 3 TS SV GRE TR T g,
(a) YIRAT M@ Y21 |eid THaF TEes! AR
(b) THUE TEE JRI AT GHI® ST,
(c) Teroan adimmTYHTS; Meorelt H 2 FlaNg Hied - TH-IR A TaT-wgE,
(@) I HE SR ey e g STEA. |
() TMear=dT Y20 Y[R UHIUMH WIEHI, HiEh!NE IS o TEA 37,
() eere TET HH, I, Tg F HSUTTH G AH.
B (© 2 (d) @) (e (4) THE T

Consider the following statements and state what is not frue of the Alluvial Soils ?

(a) Alluvial soils are most widely spread soils.

(b) Alluvial soils as a whole are very fertile.

(¢}  On the basis of their age they are classified into two - old : Bangar and new : Khadar.
(d) Khadar soils are more fertile than Bangar

(&) Alluvial soils contain adequate proportion of potash, phosphoric acid and lime

()  Aluvial soils are ideal for sugarcane, paddy, wheat and pulses

B © @) (@ 3 (4} None

31, YRAWE S Yl SO

(a) =™ (b) WA fa () ¥Toust
() e (e) TIZEH I IE I RIS
FlwhaT I/ IV TG TR FI0/ [eaT A/ e ?

(1) o (b) (2) () (3) ®F (d) (4)  (b) 3 ()

Some of the species from India are as follows :

(a) Tiger (b) Indian cheetah (¢) Selemender

{d} Gibbon (e} Great Indian Bustard (f) Two horned Rhinoceros
Which is/are the extinct species from India ?

(1) only (b @ only (3) only (d) (4) (®and ()

oAl IS |0 /SPACE FOR ROUGH WORK
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32, gumv-sred faym
(a) AR SRS YIS FEcd ToamTed FAwe 2.
(b) AW T D TR B i e et snftn i senfia Fown e sews

e .

(€) UIYINS 9N FeH YT I 8 318 WU ITAM 2 A0 AiEEE! 9 ST,
(dy HUifoa arolt 3 AT Fo 37 afYr Howid! Wiswan 7 HYal HEt w90 YRR S,
TASTH! HIVE/HI0E faar/ faas siey sRq ?
(1) ™ (a) (2} wH (d) (3) (b} = (c) @) (a) 30 (d)

Statements about Eutrophication ;

(a} The entrophication occurs in latic water body primarily in hilly region.

(b The eutrophication occurs in lentic water and there is gradual accumulation of
organisms and their products.

{¢) The eutrophication promotes fish growth as algal blooms serve as source of food to

fishes.

(d) The eutrophicated water is oxygen rich and safe for human consumption without
freatment.

Which is/are the correct statement(s) ?

(1) only (@) (2) only (d) @ Mand© @) () and (@

33, URERE RSS araer agerd w1 A erdieyH
(a) WS e fasgid
(b) T ST =EET MY fagtd
(c) WEieRTe fawas fagia
(d) SEETdS 9 W fraes g T Wiy Sam, S S8 yamaE fasta
AT TS vl fagiaaR Te qesd TRend Ul e @eR ST S YSmEls
IR FRIOT IO SpaN T Aiee T te s ?
(1} () 2) (b) @ @ 4 @

Following are sorne theories of climate change given by scientists :

(@) Sir George Simpson theory.

() Theory based on sunspot cycle.

(c}  Astronomical theory.

(d) Variation in the quantities of radiation absorbed by atmospheric gases selectively.

In which theory of climate change, the five principle effects are considered and mathematical
model for expansion and contractions of ice sheets has been given ?

1 @ (2)  (b) 3 @ 4 (d)

T HETHEE SV /SPACE FOR ROUGH WORK
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34. FAEGHIA fHefaoean Gefiarmel TH HEu g el
(a) TIEIEA - derg a9
(b) Fretera - &g fosmm
() WHAF - sfw fefesurE
(d) TERIYH - FEEEEy fEshO e T
AT TR TG R Higd, T FHT AR § fafae 3 e | oW we a
HTATIS HeA ? '
RIS TSR HIOE T TR AR 7
1) (3 2 @ «© 4 (4
List of bicactive compounds obtained from plants :
(a} Nicotine ~ from tobacco plant
(b) Nibidine - from neem plant
(c) Rotenone - from derris elliptica

{d) Pyrethrum - from chrysanthemum cincrariefolium
The bioactive compound exiracted from plant was used by primitive people for paralysing

the fish.
Which of the above options was resorted to by them ?
(L (@) 2) (b} 3) © @ (@

35, Safafayden FrmEsH 92w -
() Y TS TGOS BRI THACNT 1 T
(b)  YSHUIHES TIOM FEGEIAI .
(c) TR w.
(d) T T TeftE I vE,
(e) WHAGET Hfd I
THTH! HIVM/HIVG T2F U ¥ agaredE e fewmvr Safafaum st goam Hiea
THIOTS HRNYE S3a1/ 3T
(1) % (d) 2) @I (3 @@ (4 (b))
Aspects related to the loss of biodiversity :
{a) Habitat loss due to change in land use.
(b) Habitat loss due to pollution.
(c) Predation.
(d} Outbreak of diseases and epidemics.
()  Excessive exploitation of species.
Which of the above is/are the major causative factor(s) for decreasing biodiversity from
aquatic habitat ?
(1)  Only (d) (2) (@) and (d) (3) (¢)and (a) (4) (b) and (e}
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36. e iz frdwismn 1997 vl s frdeiemn S Sae ?
(1) 7EF fdws (2) vRdE e fdus
(3) wfsEEe s (4) wE SifE fRwE
Which of the following was replaced by multi-dimensional poverty Index in 1997 ?
{1) Consumer Index (2) Indian Poverty Index
(3) Below Poverty Index {4) Human Poverty Index

37. YRS VOTUdR GUEUN 4o TR Gt Hivd 2a T ?

(1) FafeaE gurom (2) W e

OB GIUELPERET (4) TEHE VAl

Which of the following was not an objective of land reforms policy of India ?
(1) Tenancy Reforms {2)  Abolition of Intermediaries

(3) Agricultural Finance (4) Co-operative Farming

38. GO fadm Free s fodear wRd i siqembey s,
(a) YRARIS HgwaTed] TAME) TET FhaW WMo Ko,
() W efiEmde = & e i s afis ).
(c) TREsT=N R 7 fevr=e 2w, efamn anfin fagorsd amer ok,
(d) P s ossEel 9o e EIE W W %0 3.
TSR I Faud TR o ?
(1) (2 & (o) 2 aﬂ?’ﬂ‘q‘_ (3) (o) ST () (4)  (c) 3o (d)

Following statements are regarding Planning Commission’s estimates of poverty.

(a) Poverty is showing high concentration in m:itjor states of India.

(b) Rate of fall in urban poverfy is higher than that in rural poverty.

(c) Poverty ratio has increased in the states of Himachal Pradesh, Haryana and Bihar.
(d) Planning Commission has accepted Lakdawala Expert Group estimates of poverty.
Which of the above statements are correct ?

(1) (a) and (c) (2) Allthe above (3) (b)and (c) (4) (c) and (d)
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39. shiw w59 39 wIvars Heieie! R0 TSaHe e i 3% wwd ?

(1) Harg i sfetd o (2) FHAH G

(3) e faTeraEn (4) TN wFHE

Which of the following methods of financing economic development can lead to

inflation ?

(1) Internal and External Borrowings (2) Progressive Taxation

(3) Deficit Financing (4) Government Bonds

40. e qHEd TR 2 R 1o Toiaen fRgy <iies wreTe S 9 aree ST SR
(1) e s agie suess .
(2) oA wErea= THIOET S S w370 .
3) o MU Tiew g woamEEt fed) 3o 92 I&T Fedl ore § i,
4) TSUH FooE TE

Poverty Gap is a better measure of absolute poverty than Head Count Ratio because -
{1} Household income data is not available.

(2} Itis difficult to define minimum health standards.

(3) It indicates total income shortfall that needs to be corrected to remove absolute

poverty.
(4) None of the above

41, I ST AT Sohldien Ta=R id 216 dog) @ad SaradrE g & ¢
{a) IhTdl TSI WO
(b) SRt Sfaer Fwiw w5
(@) T el AFE IS A S TS
(d) At AR & SEvD Fo g R .
e FUR UM G TR 2
(1} {a) 2 3) {9 CHNC)

When we are considering evolution of species let us remember that :

(a} Evolution is progress.

{b) Evolution is generation of diversity.

{c} The older designs are not necessarily inefficient.
{d) More and more complex designs emerge.
Which one of the above four statements is incorrect ?

1 @ (2) (b @) (© ) @
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fiat 31 WHte, wSiel 21 A WEGH! HI fIuTE w1 H09E uvae e ?
(a) WIS 9 Y wieme S e e 3 st w9

(b) TiEw, TIfF WFR 3 foama i WeeA1 ARET AgaToal S2ahia TR
(c) THAN T 9 e w# ey grae,

1 @ 2 =@ 3) (b 4 (©

In which of the fields Agenda 21 of Rio Earth summit promised to pursue action.

{a) Social and economic dimension such as combating poverty and sustainable urban
planning.

(b) Strengthening the role of major groups such as women, local governments and NGO.

{c} Conservation and management of resources like combating deforestation.

43.

1) (a) (2) Alithe above (3} (b) 4)  (©
TRETHIS IYEAaad 98I0 fSumi=n =R 0

(a) WIE@ SFIiE Fala i a3 SR,

(b) W TRl 2w T TR wRT e Ol g e SH AT
(€) SIS AR 50% Rl WaW SR

(@) HAR® 39 RO TABIE 50% e eI (o

a0 FR fFam s e,

(1) (b (2) (o @) @ (4) uwd TR

Consider the tollowing statements about the livestock resources of India ;

a) India has the largest number of cattle in the world.
b

{
{
{¢)  About 30 percent of the worlds total population of buffaloes is in India.
(

Py

Indian cow is called tea-cup-cow as average yield of milk per cow is poor.

d) Buffaloes account for about 50 percent of milk production in India.

Which of the above statements 1s incorrect ?

(1) (b 2) (< (3) (d) (4) None
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44, U DFEGEN YR 2000 @ A IR BN
(1) ¥IRAEYasE JAA ioue R S
(2)  REO IR FH B

(3) ORFEET R w0

(@) wio wd

The immediate objective of National Population Policy 2000 is to :
(1) Meet the needs of health infrastructure

(2) Reducing the total fertility rate

(3) Stabilise the size of population

4y Al the above

45. GO 99 IRakS TRET= deherv 9o ied ¢
(a) SFEERE H&Heq dexivren WEI" Res R,
(b) T i o[ A1 =T Woheo Tl T AT
(¢) ‘'wIfigate TSt (Basket)'’ WHiiw a&q nfor YaMY <o TSIH SR 79T Al
(d) Toaror spfty rarsiie B TofaR TREWE! T9H TSR U T IR
FHGTH! Fividt T TH,2. dgowe S TETaReqIar FsT 37124 ?
1 @3 @ ® @ Mame @ (@

Following statements relate to the definition of poverty in India :

(a) Poverty line is defined in terms of calories.

(b) Poverty and hungef are one and the same.

{c) Poverty Line Basket (PLB) goods and services have been changed over time.

{d) New methodology to include expenditure on education and health is recommended.

Which of the above statements is/are correct as per the definition of poverty given by S.D.
Tendulkar Committee ?

(1) (a) and (d) (2) (b (3) (b) and (c) 4 ()
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46. w9 2045 T SFTEN WHIH FI0GTES 9ed] TRF SHdEd] S0TEl ST o
VIFHESARTT IGTe FE 3ed ?

(a)
(b)
©)
(d)
(e)
ey
3

o= Gegay 30 Yat 1000 S=AQST FH) S
HA AT fadam o= R ygg
TH TGO 80% esaq0t HEUeHs STHEIT

100 2 IS FITAE Sl g T wEi.

TH T HOARE FHEIH A o drefa.
(2), (b), () ¥nfor (q) (2)  (b) (c), () 3fOT (&)

e Hd (4) (b), (c) AT (d)

What are the socio-demographic goals of the National Population Policy to be achieved so
as to have the population stabilized by 2045 ?

(a)

Reduce infant - mortality rate to below 30 per 1000 live births.

{b) Promote delayed marriage in girls.
(¢} Achieve 80% institutional deliveries.
(d) Achieve 100% deliveries by trained persons.
(e) Legislation to raise the age of marriage to reduce the birth rate.
(1) (2) () (c) and (d) (2) (b (¢)(d) and (e)
(3) all the five (4) (b), (c} and (d)
47. &9 9 HEFR favwmm Sy 2w (Fe f59E) 99 2010 3 2014 e TAEATAAIST GE FS A
Se) (31 SrEian THTEY & -
(a) TIOFES (b) ST W e
(c) WITqREaT STt (d) TEWH S FF0T fEwm
(e) T T FTERE WX
1) @ @) d @ @ ® e @G @0.dE @ @0 deE

Department of Agriculture and Cooperation has initiated a Saffron Mission to be
implemented from 2010 to 2014. What does it involve 7

()
()
()
ey

Replanting (b) Improving soil health
Strengthening Irrigation (d) Weather Station development
Enhancing Research and Extension

(@ ®) () @ @ o6 B @b dE @ @ ©@le
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48, TSA ATES TEHISHTT HROT 2000 <1 GI -
(1) difenEa FEos Fd Hewd T HiEeier AR T ok STErEn €
(2) wfge T TR M Tud FAW WEt 99H F
(3) SRl
(4) FetE! Food e

XO1

The National Policy for Empowerment of Women (2000) seeks to :

(1) eliminate discrimination against girl child and all forms of violence against women
(2) grant women human rights and equal opportunities in power sharing

{3) both (1) and (2) above

(4} None of the above

49. 1131 Y9amY+ Ao T FH ™ Asm= § @ 3 & ?
(1) T SRS A A TR AT TesiTh JaavEH e JedET ao.
(2) WRdE T AR wEedt 20,
(3) TFERHEE! TEye i ww,
(4) iR SoRE TR

The main objective of Rashtriya Krishi Vikas Yojna in 11" five year plan was

(1) Toincentivise the states to increase public investment in agriculture and allied sectors.
{2) To provide incentive to Indian agricultural exporters.

{3) To generate revenue for the Government.

{4) None of the above
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50. woE Ay EEwEe fawmaren e (v.f4.3.) gewide e,
(a) T Tl w.f4.3, T i 2015 wfa FUEst o
(b Afa3 = 3ee mo g giiem wo T el sen free w5 F
(c) T DY T =AMR,
(d) TEw AR FfEs e,

Fio HIvET Taam | 318y ?
(1) e wd (2) (a), (b) 30 ()
(3) (@) (c) (9 (d) ) (a), (b) 3 (d)

Following statements relate to the Millennium Development Goals (MDGs) -

{a} UN MDGs are to be achieved by 2015.

(b} One of the MDGs is to reduce the world’s population suffering from lack of safe
drinking water by 50%.

{c) Free and fair trade among all nations.

{d} There are eight MDGs.

Which of the above statements are true ?

(1) Al the above (2} (@), (b) and (c)

(3) (@) (0) and (d) (4) (a), () and (d)

51. e a9 o
FERE HT 9O T
(a) Y FITE TR FR FAR G
(b) ke fear ARy sEEe .
() WIFEE! fGEO} $iE geAeR AR .
(d) IS T@ER U SrEvETE! e HIE.

(1) & (a), (b) T () (2) B (b), (o) F ()
(3} T (a), (c) % (d) 4) w9 (a), (b) & (d)

Consider the following statements :

It capillarity phenomenon did not exist :

(a) The blotting paper would fail to function

(b) It would be difficult to use kerosene lamp

(c) The trees that we sec around would not have grown on earth
{d) The water cannot flow through pipes in cities

Which of the given statements are correct ?

(1) (a), (b) and () only (2) (b}, (c) and (d) only
(3)  {a), (c) and (d) onty (4) (), (b) and (d) only
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52. WS S B AL,
(3) T AT (W) ¥ s SREErEAl e YHIVIE SEA.
(b) FEE FUTH AR (FAA) B Fie FOH 997 vt (FEE ) U8 FH SR,
BTHBIH FHIVRA foum a0 amaEt g 9wg e Ead ?
(1) ArE A ale SR ST e e gEE ST TR SR,
(2)  EFE A TS AMRY AT GER A dfget TS T SR,
(3) IS SR SER A TN S 9% 3T
(4) T T qUE § R0 FEd 9% SR

Consider the following statements :

(a) Penetrating power of a particle is inversely proportional to its mass.

(b) Peretrating power of a(alpha) particle is less than that of B(Beta) particle.
Which one of the following gives a correct picture about the above statements ?

(1) Both the statemments are true and statement one is an explanation of the statement
two.

(2) Both the statements are true and statement two is an explanation of statement one.
{3) Statement one is true and two is false.

(4} Statement two is irue and one is false.

53. WE® Y faara =,

(a) Bieaw (k) HH (¢ did @ fm
TG FAGTER =] Fwwer fow -

1 (o) (d) (b) (2 (2)  (d) (o), (b), (a)

(3) (@) (b), (o), () 4) () (@) @), ()

Consider the following metals :

(a) Platinum {b) Gold (c) Copper (d) Lead
Their cotrect arrangement in the increasing order of density is :

(1} () {d), (b), (2) (2)  (d) () (b), (a)

3} {(a), {b), (c). (d) 4 (9 (), (a) (b)
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54, SHIPRISHEE TR 399 ( SIEIE) TdnH FHeS AT Hlek-1vE HYA INOEFHRE
HIE T HLOA AT Ol Gie e A 4T 9 wasies= 1948 9 Aee wifidhes
WM AT 3.

(a) TR ol wafaura reexifosg o &1 o

(b) TR TARR TRTR FROET ITTAES (lice) TOTHHRF TR,
() S gvaEe meisia swd o @R,

(d) T SR Hes Faad WEd (qUER) F% UFd TR

T Fvwt faem w2
(1) @3 (Z) @3
() @ ©F(d) 4 (@ b= (d)

Dichlorodiphenyl Trichloro Ethane (DDT) is the first chlorinated organic insecticide for

the discovery of its effectiveness as an insecticide Paul Muller was awarded Nobel Prize in
Medicine and physiology in 1948.

(a) DDT is effective against mosquitos that spread malaria.
(b) DDT is effective against lice that carry typhus.

(c) DDT has high toxicity towards fish.

(d) DDT is not metabolised easily by animals.

Which of the above statements are correct ?

(1) (a) and () (2) (2) and (d)

(3) () and (@) (4) (@) (b, () and (&)

55, Woiodst Hive fGur a2
(1) e ™ ReEe FHE (CO, LASER) 3TEN B Wiod gFHe HLVARMCS! HE v,
(2) Wrfew e SRS (MRI) T s9m Hgen Jarda Wiaw #ievardid! &l Fr s
A Jeasd e TR S e
(3) YT EMUTE STl (2R, A0 IUTRTE SIS S
(4) HFR (SONAR) T3 SR Fiarar Sff=iie M- Yor oarEs! For sl

Which of the following statements is not true ?
(1) CO, LASER can be used for cutting stainless steel.

(2} Magnetic Resonance Imaging (MRI) is used for obtaining detailed images of the
brain and it does not use radiation,

{3) RADAR system 15 used to detect enemy’s missiles.
(4) SONAR technigue is used to do gold plating on silver ornaments.
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56. e daifawdt g2 weerwe faum o

XOI1

(a) ATl SATEl ATKR TSR FATTAH TSATe FRONHG L.
(b) TN TRATE! WA e AR T A,

(c) SN 9T FRWA A 0 W 49 q9R giam.

FiedH F/FIE e/ faaR ateER dR/aea ?

(1} (@) %% 2) (@) ST (b)
B) (o) P @ (@) (b) AW ()

Following are general statements about water drops.

(a} Surface tensjon is responsible for the spherical shape of the water drops.
(b) Even in the absence of gravitation, water drops have spherical shape.
(¢) Formation of water drops occurs, if mass of the water is stretched.
Which of the above statement/statements is/are correct ?

1 @ony () (@) and (b) only

(3) (o) only (4)  (a), (b) and ()

57. GTNIEATER WHel STERaed ‘I wred | frean.  goam 3 geadien Weieit
IV TG ST ?

(1) TEeEfe=n (2) SteEE (3) H (4 A

Botanically fibre plants gives bast fibres. These are actually which of the following parts
of the plants ?

(1) Phloem (2)  Xylem (3) Roots (4) Leaves

THeeHT RIHIRTET 90 /SPACE FOR ROUGH WORK
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58. & oile] Fa FeAmrerd F1E G AE ?
(a) T 4SS Fid! (White Revolution) 3 % HHT.
)

() o =g HFg 39 wES ¥ e o B,
(c) o =UE ‘A g9 11 T S W gY Hasd AE’
(d) A2 HT o,

() T T, AT WEH Hvamd IS WY T e i ot TR,
() TREiear guT=Et qrael dAfaead wHiE el g g, |
nH © 2 @ 3) (@ (4)  PORE R

What is not true of Dr. Verghese Kurien ?

(a) He is regarded as the father of White Revolution.

(b) He spent most of his life at Anand and was associated with Amul
() He used to say "I don’t drink milk as I don’t like it”,

(d) He was a Keralite.

() He was awarded with Padma Vibhushan but not Magsaysay award.
(f) He was instrumental in converting buffaloes milk into powder.

(1 © 2 (@ @) (o (4) None

59, WP faurar feam «1
(a) T A FEOR FEAGET K HORE HUEH.,
(b) T S SEANGETS AfAfEd Fowde Wgviren I e At Age W9 e e,
@IF TR G137 Alevil FISvT YE B I
ST | Bl
(1) < faur SR @ gat foam ke faamm dra wrsdistor e
2) A faam T A
(3) = fre aier g W faaw vfecw faarm 9 wdfiet Wil
(4) e foum Fhe Wy W I

Consider the following statements.

(a) Cholesterol packaged in High density lipoprotein is called bad cholesterol.

(b) High density lipoprotein builds up cholesterol and cause blockage of arteries. It can
also lead to plaque formation and start atherosclerosis.

Now state whether.

(1) Both the statements are correct and second is the correct explanation of the first.

{2)  Neither of the statements is correct.

(3) Both the statements are correct but the second is not the correct explanation of the
first. :

(4) The first statement s correct not the second.
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60. WiE auEis! B fagTa ang ?
(1) TTHHEHES  (2) TR (3) TERH (4) TTESE

Which of the following hormones is odd ?

(1)  Glucocorticoid (2) Progesteron (3) Testosteron (4) Insulin

61. GOBIH! FIH CRETar Bl-Tha 3@ umr 389 7
(1) % 2) @ -T (3) W (4) ®aEEH

Which of the following may be called as co - factor of an enzyme ?

(1) Iron (2) Vitamin - D (3) Proteins (4) Carbohydrate

62. TWR; fREAImYT WROtE! FIH Mesv BT TR ?
(1)  smifn 2) T IHE (3) R (4) W

Generally through kidney which of the following is not filtered ?

(1) Ammonia (2)  Uric acid {3) Water (4) Sugar
63. FHSWM A=A FATNE] TG Hed 0l SqUT HEGA o W {97 T
A FIE .
(1) == (2) Ea-ud fagm
@) I (4) e-ary fagwr

Coal can be made more efficient and cleaner fuel by converting it into
(1) Liquid form (2) Liq - solid mixture

(3) Gaseous form (4) Liq- gas mixture

HoIT FTATEDG! APT /SPACE FOR ROUGH WORK
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64. __ sihyet gen "affs T g,
(1) =EA (2) SteffEeA (3) R (4)  feemedEn
is a natural drug.
(1) Morphine (2)  Ampicillin (3) Chloroguinine (4) Phencyclidine

65, YOEEd ST SO THiAd 3aS SEE.
(1) Yvaad® () 3@
3y feem - (4) 9 = aleH

Atoms are held together in a molecule by

(1) Intermolecular forces (2} Intramolecular forces

(3) Dipole - Dipole forces (4) Van der Wall’s forces

66. e Y I, <fag S ST e U 9y YT, SUeRed W0y AifedeEy 3
TR, GGSIHT HIVEI A AT ST AL 2

(1) wTEgEE (2) W TEHTTEES

(3) S (4) FEA SRS

Potato Chips manufacturers usually flush bags of chips with some gas to prevent the
chips from getting oxidised. Which of the following gases is used for the purpose :

(1) Hydrogen (2)  Sulphur dioxide

(3) Nitrogen (4) Carbon dioxide

FHoHT HIFTHETE! ST /SPACE FOR ROUGH WORK
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67. TIEN HUSHEL USOW SXUTHl 8 TVl Siessr oody guied (few F1979) 8|l O Jfus
U YA G et g O et oree auihd (e 91sA) gl FRO -

(1) 9@ Fie: afes o () waw frarfe: dfags o
(3) WY =T IR, (4) oo THE g O AR

A stain of curry on a white cloth becomes reddish brown when soap is scrubbed on it. It

turns yellow again when the cloth is washed with plenty of water. It had turned reddish
brown because :

(1) Soap is basic in nature (2) Soap is acidic in nature

(3) Soap is neutral (4} None of the above

68. T HEAWL) HRE! FAT WS A AWH FHSTA 79% AT N0 21% Waea Y1 Fwiven
TEHTET 25° Jod 2 TE UH SR Ted] 2Re ?

(a) RIS, FRO W FEAA AAGOH J&T ST 318,

(b)  FLSH, R TN IJREME AHTS Y& FH TR,

(c) AfeiSH anfty FrgSA S T daet e B

(dy T WD T T ST B S WEY W HL.

(1) (a) &7 (b) (2) () = (d) (3) (o) ™K 4 (b) P

If balloon is filled with dry air which contains mixture of 79% N, and 21% O, at 25°C
then which component of the air will effuse out first ?

(a) O, because it has higher mass than N,

(b} N, because it has lower mass than O,

() 0O,and N, both will effuse out at the same time

(d) Whole air will effuse out and balloon will regain its original shape

(1) () and (b) (2) () and {d) (3)  (a) only 4) (b)only

FeeT FATATS [ /SPACE FOR ROUGH WORK
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69. OGS {E TaY v ?

(@ @& b e ( TEAH (d) T

(1) (b), () 0t (d) 2) () 5

(3) (b) ¥ (4 (© w

Indicate which of the following is a pure substance ?

(a) Iron (b) Gasoline (c) Cow's mitk {d) Sea Water

(1} (b), (¢) and (d} 2) (a) only

(3} (b only (4} (c) only
70. WSS FIR T A oM ?

HoAT HIATETE FAW /SPACE FOR ROUGH WORK

(a) WA Sifad wof FET 7Y ‘C - 147 54

(b) TAF SEE CHFR FAOME C - 147 FAF

(€) TogAL e THTY TG e Hehal.

(d) &bl C-14 Feg Aq 5568 AN AT el T FE OEE E C- 14" (H - 14 = ad
Jge) Harttam.

(e) ¥ TS TRTEYIAR wIomAN SUavard |19

(H & ugd TH.Iwy, ol 9t sy areol

() T e vl Rars T wiwivs e,

1 @ @ ® 3) (8 (4) TR

Which one of the following statements is incorrect ?

(a) Every living organism takes C - 14 ﬁough carbon.

{b) Every living being has the same proportion of carbon 14.

(c) After death every living organ throws same percentage of carbon.

(d)  After 5568 yrs of death half of C - 14 will disappear - which is called as half life of
carbon - 14.

{e) The method is used to get chronological evidence of archaeological remain.
(f)  This method was invented by F.W. Liby.
{g) He got Nobel prize in physics for this work.

1 @ @ () 3 & (4) Nome
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71. MRS PR W FAOR] Ifeel foR-9Rad (I9RGH) st i ?
(1) ¥RE T f&m : (2) WL dtE

(3) WM IS THR GH (4) TOE B

Who is the first non - Indian recipient of the Bharat Ratna award ?

(1) Martin Luther King (2) Mother Teresa

(3) Khan Abdul Ghaffar Khan (4) Dalai Lama

72. 59 DRYAT SN SSALTH] TSADT R0 FE Iehal 7
(1) T Hele =redr RIeRegaR
(2) T 3= AT RRIiTar
(8) T A Yo =g

(4) Helag TgT=1 TS FUW T

Who can remove the Chairman of the State Public Service Comumission ?
(1) The President on the recommendation of the Supreme Court

(2) The Governor on the recommendation of the High Court

(3) The Chief Justice of High Court

(4) The Governor of the concerned state on his own

THeeAT ST A0 /SPACE FOR ROUGH WORK
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73. WHAG TAEd WIAGIH! SV Go4d Fasd GHITE T8 7

(1) foam gt faemm w0

(2) HEST H9die o o

(3) TOaEH w0

(4) TEERAWE T it veaEede sgatar WE

Which one of the following is not r;"lentioned in the Constitution of India as a fundamental
duty ?

(1) To develop the scientific ternper.

(2) To safeguard public property.

(3) To cast vote in the election.

(4) To respect the Constitution and its ideals.

74, feror qd MY T HHET (INfHAH) e Wl HIV fFU e T ?

(@)

AT T S % A 1967 WG T4 T TgihgT F01 T,
T BT SNTHAM=AT S WG Whhadie Aia 318,
Bl R I E R R

(a) S (d) (2} = (b) (3) T (o) (4) TR (d)

Which one of the following statements regarding the Association of South East Asian
Nations (ASEAN) is not correct ?

(@)
(b)
(©)
(d)
(1)

ASEAN was established in the year 1967 in Bangkek by five member countries.
Singapore is one of the founder members of ASEAN.
India is sectorol dialogue partner of ASEAN.

ASEAN has ten members.
(a) and (d) (2) only (b} (3) only (o) (4) only (d)

ool SIHTETE! R0 /SPACE FOR ROUGH WORK
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75. WS fauH wEl.
(a) god T A sTafeREn Satteiea P Avrar wam fig wheen s
(b) T T TS MEAH AT T Fe TS R
Flels! SR faas TiEw 3R ?
(1) TR (a) (2) TH (b) (@) @) @ FdE e

Consider the following statements :

(a) Tulsi Gabbard is the First Hindu woman ever to get elected to the US House of
Representatives.

{b) She was awarded by Kuwait Army National Guard.

Which one of the above statements is correct ?

(1) only (a) (2) only (b) (3) (a) and (b) (4)  None of them

76. W fFeffoumer o ‘iigw | B W mew IR ?
(a) I A FH gH F WIN AN § WEAT TEd.

(b) FRU AW W T AGS! HBd T | FHdl Uk FAH W= 52 g
(c) HMF AIOMETST 4 THA A0

(d) SR YRAW HICHR YHIGN I99 gHD (state religion) T &1,

® (2 (2) (b (3 e ud @ (a) anf (c)

Why is Indian Secularism called as a mosaic frame ?

(2) Because in it various religions and languages flourish with freedom and dignity.

(b) Because in it all groups without losing their identity become a part of the composite
culture.

{¢) It unites common masses.
(d) There ts no state religion in India.

(1) (a) (2) (b} (3) Alltheabove (4) ({a)and (¢

THoAT BIATETS T /SPACE FOR ROUGH WORK
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77.  STi® €aid S TS - AW i ! WIHiotsh! HIvl ATEEE! SR S7S 91 IS How g ?
(1) 4 FA (2) forord wETa

(3) sfere % (4) S IOw

James Bond is the most popular spy of the World | Who among the following has not
played the role of James Bond so far ?

(1) Sean Connery (2) Pierce Brosnan

(3) Daniel Craig (4) Omar Sharief

78, IR VU] | A T qoit’ (T o SRfEE W) %S WK 7

(1) Had (2) Wit (3) IR (4) TR

Which city is called the ‘Queen of Arabian Sea’ ?

(1)  Mumbeai (2) Cochin {3y Porbandar (4) Panambur

79. WOIGUH! BRI T G Hald HH 758 ST W 3R ?

(1) aHt= 2) fou (3) T (4 W=

Which one of the following languages of the world has the least number of words ?

(1) Tamil (2) Tirahi (3) Hawaiyan (4) Sanskrit

HoeAT B AN /SPACE FOR ROUGH WORK
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80, HINISE WANE e uiwe FasumamEs Hivk fHum gaE 3g ?
(1) Foee TR stoaer=an T AT 50 2 SN Afeaiada @ .

(2) T wfwg ey sty fova wfwdi=n awadien Feasus Mt &3 e
REEURGIEREEITA

(3) T wfiaede TniqEsT 3 w=oa @ 9 e ifeds swy 9 e day
ST

@) foes "= svagi=n FremEdt 5 FefEE T

Which one of the following statements is incorrect in respect of elections of Zilla Parishads
in Maharashtra State ?

(1)  The 50% seats of Zilla Parishad Presidents in the state are reserved for women.

{(2) The elections for the posts of President and Chairpersons of the subject committees
are conducted by the Collector under the supervision and control of the State
Government.

{3) The President of Zilla Parishad is the ex-officio Chairperson of the Water and
Sanitation Committee in Zilla Parishad.

(4) The term of office of President of the Zilla Parishad is of 5 years.

81. WOGURT BV TH T THaw wagey ' am"’ favas @ | 3?2

(1) e (2) ufvEy sme (3) FENY (4) T

Which one of the following states, is the first to scrap the “SEZ" policy in India ?

(1) Gujarat (2) West Bengal (3) Maharashtra (4} Goa

HoAT WIMERG AR /SPACE FOR ROUGH WORK
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I I WU S YA ST R IR

(a) TB AR (b) aTuST Afbwen

(c) THeEHRE AU (d) HeIH SAfbrewta

(1) @ ©. () 2 () (@ (d) (3) (@ 0)© 4 (a) (b), (d)

What is the main jurisdiction of the High Court ?
(a) Original jurisdiction (b) Appellate jurisdiction
(c) Supervisory jurisdiction (d) Advisory jurisdiction

(L @ (@ 2) () ) (D 3 @ O © 4 (a) (), (d)

83.

HET #E AR R fay iR S s 7 A v faet

(2) % it 50 STERMIAE e TR HeHld SOoedl qigei el %y 960 $6 .
(b) T I FEFE SRR FAHGH e I 3T <5 I,

(€) T gEme ayq Sl farmer gag 18 F% .

(d) T IAEAR GRETHY T (9 GRS FHAR TG S wUEr SeW Hg
3.

1 @ © (@) (2) (@) (b). (d) (3} () (b) © @ b © @

Which one of the following extraordinary powers, the Indian Constitution provides to the

Centre to deal with an emergency arising out war, external aggression or armed
rebellion 7 Select the correct answer using the following codes.

(a} Centre can modify the provisions relating to the distribution of revenue between the
Centre and the states.

{b) Centre can give directions to any state as to the manner in which its executive powers
are to be exercised.

() Parliament can make laws with respect to any matter enumerated in the State List.

(d) Centre can order the reduction of salaries of state employees, including the judges of
High Court.

(1) (@) () (d) (2} {a), (b), (d) G (@ (b)) 4) () () @)

THoedT THIMTAR™E |ARM /SPACE FOR ROUGH WORK
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84, Tpm Stom A w=E WL
ST THSHTT AR E ol S IS aqR SHoedl ATiedrd RHRIRHSH Tas eEeedl A1
(1) fw= (2) “ive (3) o (4) wS

Fill in the blank appropriately.

A trap laid for apprehending a Govt. employee taking bribe used phenophthelein powder
coated currency notes. A solution of sodium carbonate sprinkled on the notes must turn
for lending proof for the crime.

(1) blue (2} purple (3) red (4} black

85, YdiE s Afea) F Sde sat IsaEest SEAa T sied wien. (909 w4 Hasn)

I . - 1 AT T F. - 2 FR
(a) TITER 9 () A TEHR QT 1935
(b) —AEEEA TREOET (i) fordter w2
(¢) TeauRviE AFiEEE T (i) STASSH T '
(@) HEEE TugHl (v) R T
oaig

@ ® (@ @
1 @ v @ )
2y Gv) @) @ (i)
@ @) @ @) (@
@) ) G @) G

Match the features of Indian Constitution with the sources borrowed from different
constitutions of the world. (use correct codes)

List 1 ~ Features List 2 - Sources
(a) Office of the Governor (i) Government of India Act 1935
(b) Judicial Review (i)  British Constitution
(¢} Directive Principles of State policy fii) Ireland Constitution
(d) Parliamentary System of Government (iv) American Constitution
Codes :

@ ® © ¢
v O v @ (@)
(2} (v) @) @ (D
(3) @) @ (v} (i)
@) @ (@) (v) ()
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86. aiie [EIREw W R Iawd Bl ArATEES (RIouh! S G 7 ?

(a) R Sl T TR VT HEES T,
(b) A TN e - T Brsre KoiEd € @ Wedl e SR o,
() W e sifeluwne) am 39 Tt e fres
(d) @ FIELS fhTrgHa HIeTg, 7.
(e) TUTSHI GGG YT g g & f FHias TR Gl
(f) I ETET ST T T AR WS s daE g %ol Wy @ @iaie we g aTa
r=HE ARG L.
1y (2) (d) 3 (@ @ ®
Oscar Pistorious was recently in the news. What is not true of him ?
(a} He is known as Olympic “Blade Runner”,
(b) He shot dead his beloved on a Vatentinc day.
(¢} He participated in London Olympics and won awards at Para Olympic Competitions.
{d) He is a runner from the United Kingdoms.
() He was born without bones in his lower legs and runs with carbon fibre race blades.
(f)  Heclaims that he killed his beloved thinking her to be a burgldr however it is charged
that the murder is a predetermined plot.
1) (© 2) {d) @) @ “) ®
87. T 2011 S IFRIER YRAa e Haid AfUs SHEE SUGe! T et =l Sot SIRa &A=l
AT TRI 3TRd ?
(1) e, feedh, STE, ReTE, AETET
(2) T, e, dowm, R, SR
(3) T, foeh, S, e, ReUAR
(4) W, ook, dUER, e, STRHEEE

What are the 5 most populous cities of India in the decreasing order of their population as
per 2011 Census ?

M
(2)
)
(4)

Mumbai, Delhi, Bangalore, Hyderabad, Ahmedabad
Mumbai, Delhi, Calcutta, Chennai, Bangalore

Mumbai, Delhi, Bangalore, Ahmedabad, Hyderabad
Mumbai, Deihi, Hyderabad, Bangalore, Ahmedabad

SoeAT HMTEE AT /SPACE FOR ROUGH WORK
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88. TERN (AT GEAH §2ad] 9 Whd oK :
() T fohe Taum wftve=an 9 G qewi T S we,
(b) TEITE T Y TRARTS: TN Aol s .
(¢} Toum |97 ifavare 3@ AR He.
(d) U FEHSHN TR HUNE AfTva™ 08 He Fe.
gy
1 @ @) 2) (@) ), 3 ®)© 4) @ ()

The Chief Minister of a state can be removed if :

(a) a resclution is passed by 2/3rd members of the Legislative Council or the Rajya
Sabha.

(b) in the opinion of the Governor, there is a breakdown of the constitutional mnachinery
in the state.

(c) amno - confidence motion is passed by the Legislative Assembly.
(d) ano - confidence motion is passed by both the houses of State Legislature.

Codes :
1 (@ O (2)  (a) (b). (d) @) (b} 4) (a) @

89. TWIFICUH! FIvd! A, T, Fooaw! waHl 91 2012 - 2013 A VA=) Toad! ?
(1) TEPR WIS (2) SRS FHIoT

(3) TS I =T (4) TERIY SR A

The year 2012 - 2013 was not a centenary year for which Personality/ Institution/Movement
of the following ?

(1} Cooperative movement (2) Yashwantrao Chavan

{3) Bombay High Court {(4) Maharashtra Public Service Commission

HeodT RIWTAR! W /SPACE FOR ROUGH WORK
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90. 73T FEAGENTHR THRRT W= TEHEEa ol ST TOal I59 WSt Ueas ed 7
(@) 2-3 WG &
(b) Trfeea wiw

(¢) 7MW FE=R yftrw 7 =t
(@ fooa FaEem vivd
1} (@3 (2} (2) F(b) @ bBF@ 4 @9

According to the 73rd Amendment which of the following are optional provisions left to
the state governments regarding organisation of Panchayati Institutions ?

(a) 2 -3 tier structure

{b) Fixed tenure

{c) Role and scope of Gram Sabha

(d) District Planning Committees

(1) {c) and (d) (2) (2) and (b) (3) (b} and (d) (1) (=) and ()

91. wWeN focer Uivg 1 qamw §Hd SEEd IEidaEraiasssa Afaead SUEr=a aEdd
TSI SR faum IFE AR ?
(1) HIomTE srfaRaTarE Sud el IRYS=I TR0 S R 1/3 58 95 TEe S
.
(2) Sfavard SUE YA SAERAAl TR GEE 23 TEAeE! Sevadal .
(3) FIUTE AfqearaTem STEEE! Siofaoa avsd dweE! faee Tives 73 SRk
FUFR Fas AT,

(4) Hiewrd defEsH™ GHEEE GYTHifasg 99w 9 wuE sifawery ota i 3 /4 agai=Ar
HHEHR TRIT K STEYaF 784

Which of the following statements is not correct regarding no confidence motion against

the office bearers in Zilla Parishad under Maharashtra Zilla Parishad Panchayat Samiti

Act ?

{1) The motion of no confidence should be moved under the signature of at least 1/3 of
the total strength of Zilla Parishad.

(2) No confidence motion should be passed by at least 2/3 majority of the total number
of members.

(3) The Chief Executive Officer of Zilla Parishad can only preside over the meeting
called for the passing of the no confidence motion.

{4) No confidence moticn against the Chairperson of Women and Child Welfare
committee is required to be passed with 3/4 of the majority of the total strength of
the Zilla Parishad as a special case.

Foedl HIHMEIE WHT /SPACE FOR ROUGH WORK




A

https://dompsc.com

43 XO1

92, ¥ SiHEal FERTEN Ay 1y s

1)
(2)
)
(4)

BEEL

LA G R T LT

e A fohar aaTHt 65 99, W e wdT @
= gy o FarE 62 9, & e e

The Chairman of the Union Public Service Commission holds office for a period of :

(1)
(2)
3

(4)

g

six years
during the pleasure of the President
For six years or till the age of 65 years, whichever is earlier.

For five years, or till the age of 62 years, whichever is earlier.

93. WG TN STOR HHSTH HATHD GV TFTAT TIABIH 107N TGl Hed ?
e IUEl AN qF Hehd TESL

()
(b)
()

(d)

(1

HH G QAR agHar (S Tl GRS Gl et 38 S STHE), ST S
T Frofaa #% g

Heled Aarearsd) STHHIAT Yo 1 GEadl 303 Ao a1 SR STaaaaug
yfier w8 3 TR,
(@, (), (c) (2) (@, (b), (D (3) (2. (@, (d) 4y (b} (o) ()

What are the main provisions of constitutional remedies available to Indian citizens under
Indian Constitution ? Select the correct answer using the following codes :

(a)

(1)

The citizens can move the courts for enforcement of their Fundamental Rights.
The Supreme Court can issue necessary writs for enforcement of these rights.

The Parliament can suspend the right to constitutional remedies by two - third
majority, which must also be the majority of its total membership.

The parliament can empower the courts, other than the Supreme Court, to exercise
powers for enforcement of these rights without adversely affecting the powers of
the Supreme Court.

@), (b), (9) (2) (@), (), (d) 3} @ (@ d) @ (b} (0 @)
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94, YATO DIFIT 9 DHRE Bl 98 TGS SR 9rEw W sied ?
(1) YRGS HEEE 3gF (2) wHieifem adte aggwm
(3) Uerawite TR ITRE (4) TEMHE T IE W

The office of Lokpal and Lokayukta in India resemble which of the following ?

(1) Parliamentary Commissioner of India (2) Ombudsman in Scandinavia

(3) Prosecutor General of Russia (4) Council of State in France

95, TRNIRN 3% ST el Iroau ShEewil 8. [oo aaiuan am SR -

(a) fupa FA & fawa A,

(b) o TR A Tre RvariE,

(c) T WA IE SIS, |

(d) TH IREE qHIFE TE TG

Fieis! e faum/faus gH=/EE TR/ 3R ?

1) (a) 30 () (2 ® 3 (© (4) I

It is illegal to drink and drive in Maharashtra and one also needs a permit :
(@) to buy liquor from an authorised shop.

(b) to consume liquor in a hotel or a bar.

{c} to possess it in your house.

(d) to carry it from one place to another.

Which of the above four statements is/are incorrect ?

(1) (@) and (¢) 2 () 3 © (4) None
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96. T WM TE Foedl U2 TG WHH o1 gEial FemEadt e | el 2

{a) & I 1 SEE 2013 Ut gE ol

(b) W TR ot 99T 51 few @A 20 faeam g% ) 9.

() o1 Frd AT FIVURHIST STHRAST 9 AFEened) TG Thd T W TS,

(d) o FEgR WRTAR F o SeTe e S e,

() v el F diven MENINT ¥€ F T o KA § owwu wiwe! A g A
IR Sq HFTHTH TRI, '

M () @ @ @ (@ (4) ot HowE T

What is not true of the Direct Cash Benefits Transfer Scheme taunched by the Central

Govt. ?

(a) It was launched on 1% January 2013,

(b) The pilot phase has been launched in 20 districts scaling down the number from 51.

(c) Herein cash will be directly transferred to the Aadhaar linked bank accounts of the
intended beneficiaries.

(d) It is supposed to prevent corruption and leaky distribution.

(&) On the day of the launch the hurdle in Maharashtra was stated to be inad:uate
number of Aadhar - linked accounts.

1) b 2 () 3) (= (4) None of the above

97. ITTERA MOMYEYE Eoets SN faum we e ?

1) WAL ForaE e 9 9

(2) Ay, wem fawfaa Swiqn & 3

(3) ILTAF, P S T ol 2

(4) HALTALH. B LA AASE! S " H o

Which one of the following statements is correct, regarding the International Monetary
Fund ?

(1} IMF grants loans to any country.

{(2) IMF grants loans to only developed countries.

(3) IMF grants loans only to member countries.

(4) IMF grants loans to the central bank of a country.
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98, WG faum &L
(a) 1 SO 1950 STt WIeR el Hadl QURI HITd 81 WoH <31 Bidl.
(b)  HgEd TTHE GO Uuedte S wREm TRt IRAH e et .
Tt FR/A FHEA SO 3177 ?

(1) T (a) (2) e (b) () (a) 3O (b) (4) VL AE

Consider the following statements :

(a) India was the first country to recognize the people’s Republic of China on 1% January,
1950.

{b) India objected to China’s permanent membership in the Security Council of UN.

Which of the statements given above is/are correct ?

(1} only (a) (2) only (b) (3) (a) and (b) (4} None of them

99, SR TE I T =V T MasiE Fai= AEied EaIce Fol a8 @l saad qeqd

FOS AN
(1) fafuermer e
() fafwng TEae

(3) Tafuamer erver swmr wete =AY ITEd

(4) IR W BT S

If an election to the post of the President of India is set astde by the Supreme Court then
the orders made by the incumbent until then : '

(1} Become invalid

(2) Remain valid

(3) The Supreme Court decides whether they are valid or otherwise
(

4) It is decided on case to case basis.
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100. YEie faum e

(a)

tb)

(1)
)

Tsig M= glial el JoEcal deasd! e oa Hilbgs g ot =
S TE FA T 99 AR $S B $Te SREEE a5t 9.

A .. o4, St e AEedd 9 3 TR el gl i 3T ST wed
WY § A g <8 Fivad F3a TR 10 T,
(a) 9 (b) =T T 3T (2) (a)@ (b) AR IF

(a) SR TG (b) IF MM (4)  (b) TR g (a) I T

Consider the following statements :

(a)

(b)

(1)
(3)

Nalinis death penalty for Rajiv Gandhi’s assassination was commuted to life
imprisonment on the basis of a recommendation of the state cabinet and an appeal
by the Congress Chief Sonia Gandhi.

Justice K.T. Thomas who headed the Supreme Court bench that confirmed the death
rap now feels that it would be incorrect to hang the remaining three sentenced to
death for Rajiv Gandhi’s assassination as the antecedents, nature and character of
the acused were not considered before.

Both (a) and (b} are correct {2) Neither (a) nor (b) is correct

(a) is correct (b} is not ' (4) (b) is correct (a) is not

-00o-
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ol — (7% 1 767 ...

) wEgiehael fafer Fown fafe i &= oW (3% o) &0 TEadoaia Iataiahet o
T FIEER = T Heard § H0 HOUEAT H FS AR, 28 THG e § IFER SHEIET
A ST S qdeninsd o Ry yiaey FreEmEETe S-2 ' TrHe REETIR S
TR TES 7 I T FHG TS G911 SHEEA AT/ 399 T g9 U 29ren 8
M B,

(9) TR TEEAHERE s fafd #od0 de SreEHT SHEamel € TAYRGHT W a0 FE TR
U TR YEE AR, T U0 SneTET AIUATge! SHEaNH MY STRACAR T WIT- 1
AHAEIRTRS 7 faaeT T S snavas e

TH U

T, %. 201. Wl 9@ % FIOGHEE] HIUR ol TIoT R 7
() @ gEre whEd (2) seeEs fTamPER
@) TN W (@)  TEE TiEd

& Y ANg SR (3) T TS W9 o SR, @i WM OYeTE I 3)) eNe. I
TOOTAM 999 %, 201 FENE IW-FAF (3" 7 ade Qivd s w81 aefE
TTTTTH 3.

1wl O O @ @

YN UZAN T WA dle Yeas FIAar Al SO HiE 8 gl W aien Qe
ST IE @ A WHRFAISERE afvg age (U9 s[Eifed w8 SEaEl. g
uﬁﬁﬁan—armﬁémaﬁ?wﬁ Ufe =1 e T A R
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